$\label{eq:hardenergy} \begin{cases} \mbox{Hacettepe Journal of Mathematics and Statistics} \\ \mbox{Volume 43 (5) (2014), } 809-814 \end{cases}$

Oscillation results of higher order nonlinear neutral delay difference equations with a nonlinear neutral term

Mustafa Kemal Yildiz^{*} and Hasan Öğünmez[†]

Received 08:03:2011 : Accepted 14:08:2013

Abstract

In this work, we shall consider higher order nonlinear neutral delay difference equation of the type

 $\Delta^{m} [x_{n} + p_{n} x_{n-k}^{\alpha}] + q_{n} x_{n-l}^{\beta} = 0 \quad , n = 0, 1, 2, \dots$

where $\{p_n\}$ is a sequence of real numbers, $\{q_n\}$ is a sequence of nonnegative real numbers, k and l are positive integers and $\alpha, \beta \in (0, \infty)$ are quotient of odd positive integers. We obtain sufficient conditions for the oscillations of all solutions of this equation.

2000 AMS Classification: 39A10.

Keywords: Delay difference equation, higher order, nonlinear neutral, oscillation.

1. Introduction

In the present work, we consider the following higher order nonlinear neutral delay difference equation:

(1.1) $\Delta^m \left[x_n + p_n x_{n-k}^{\alpha} \right] + q_n x_{n-l}^{\beta} = 0 \quad , n = 0, 1, 2, \dots$

where Δ is the usual forward difference operator defined by $\Delta x_n = x_{n+1} - x_n$, k, l are positive integers, $\{p_n\}$ is a sequence of real numbers, $\{q_n\}$ is a sequence of nonnegative real numbers and $\alpha \in (0, \infty)$ and $\beta \in (0, \infty)$ are ratio of odd positive integers.

Recently, there have been a lot of studies concerning the behaviour of the oscillatory difference and differential equations, see [1-14] and the reference cited therein. In [3], Agarwal et al. and in [4], Agarwal and Grace studied behaviour of the oscillatory higher order nonlinear neutral difference equations with different form from equation (1.1). Later

Email: myildiz@aku.edu.tr

^{*} Afyon Kocatepe University, Faculty of Science and Arts, Department of Mathematics, ANS Campus, 03200, Afyonkarahisar, TURKEY,

[†] Afyon Kocatepe University, Faculty of Science and Arts, Department of Mathematics, ANS Campus, 03200, Afyonkarahisar, TURKEY,

Email:hogunmez@aku.edu.tr

in [9], Tang and Liu investigated the oscillatory behaviour of the first order nonlinear delay difference equation of the form

$$\Delta x_n + q_n x_{n-l}^\beta = 0,$$

where $\{q_n\}$ is a sequence of nonnegative numbers, l is a positive integer and $\beta \in (0, \infty)$ is a quotient of odd positive integers. Later in [10], Thandapani et al. considered the neutral delay difference equation

$$\Delta \left[x_n + p_n x_{n-k} \right] + \delta q_n x_{n-l}^\beta = 0,$$

where $\delta = \pm 1$ and β is a ratio of odd positive integers and also $\{p_n\}, \{q_n\}$ are positive real sequences. Particularly, in [11], oscillation results were given for

$$\Delta^{m} [x_{n} + p_{n} x_{n-k}] + q_{n} x_{n-l}^{\beta} = 0,$$

where $\{p_n\}$ is a sequence of real numbers, $\{q_n\}$ is a sequence of nonnegative real numbers, k and l are positive integers and $\beta \in (0, \infty)$ is a quotient of odd positive integers. Note that (1.1) includes this equation with $\alpha = 1$.

In [5], X. Lin considered (1.1) with m = 1 which has the form

$$\Delta \left[x_n - p_n x_{n-k}^{\alpha} \right] + q_n x_{n-l}^{\beta} = 0 \quad , n = 0, 1, 2, \dots$$

where $\alpha, \beta > 0$ and $\{p_n\}, \{q_n\}$ are sequences of nonnegative real numbers and k and l are positive integers. Our conditions are more relaxed when the equation is of first order.

Let $\rho = \max\{k, l\}$. By a solution of (1.1), we mean a real sequence $\{x_n\}$ which is defined for all $n \ge -\rho$ and satisfies equation (1.1) for $n \ge 0$. A solution of (1.1) is said to be oscillatory if it is neither eventually positive nor eventually negative.

Our aim in this paper is to obtain sufficient conditions for the oscillation of all solutions of (1.1).

In the sequel, we shall need the following conditions:

 $(C_1) \liminf_{n \to \infty} q_n > 0;$

$$(C_2) \ 0 \le p_n < 1;$$

 $(C_3) - 1 < -P \leq p_n \leq 0$, where P > 0 is a constant;

We need the following result proved in [13] for our subsequent discussion.

1.1. Lemma. Assume that for large n,

$$(p_n, p_{n+1}, \dots, p_{n+k-1}) \neq 0.$$

Then

$$\Delta x_n + p_n x_{n-k}^{\alpha} = 0 \quad , n = 0, 1, 2, \dots$$

has an eventually positive solution if and only if the corresponding inequality

 $\Delta x_n + p_n x_{n-k}^{\alpha} \le 0$, n = 0, 1, 2, ...

has an eventually positive solution.

Furthermore, we need following lemmas proved in [1].

1.2. Lemma. (Discrete Kneser's Theorem) Let z_n be defined for $n \ge a$, and $z_n > 0$ with $\Delta^m z_n$ of constant sign for $n \ge a$ and not identically zero. Then, there exists an integer $j, 0 \le j \le m$ with (m+j) odd for $\Delta^m z_n \le 0$, and (m+j) even for $\Delta^m z_n \ge 0$, such that

$$j \leq m-1$$
 implies $(-1)^{j+i} \Delta^i z_n > 0$, for all $n \geq a$, $j \leq i \leq m-1$,

and

$$j \ge 1$$
 implies $\Delta^i z_n > 0$, for all large $n \ge a, 1 \le i \le j - 1$.

1.3. Lemma. Let z_n be defined for $n \ge a$, and $z_n > 0$ with $\Delta^m z_n \le 0$ for $n \ge a$ and not identically zero. Then, there exists a large $n_1 \ge a$ such that

$$z_n \ge \frac{(n-n_1)^{m-1}}{(m-1)!} \Delta^{m-1} z_{2^{m-j-1}n} \quad , n \ge n_1$$

where j is defined in Lemma 1.2. Further, if z_n is increasing, then

$$z_n \ge \frac{1}{(m-1)!} \left(\frac{n}{2^{m-1}}\right)^{m-1} \Delta^{m-1} z_n \quad , n \ge 2^{m-1} n_1.$$

2. Sufficient Conditions For Oscillations Of Equation (1.1)

2.1. Theorem. Assume $1 \le \alpha < \infty$, (C_1) and (C_2) hold. (a) Let m be even. If the difference equation

(2.1)
$$\Delta w_n + q_n \left(\frac{1-p_{n-l}}{(m-1)!}\right)^\beta \left(\frac{n-l}{2^{m-1}}\right)^{(m-1)\beta} w_{n-l}^\beta = 0$$

is oscillatory, then all solutions of (1.1) are oscillatory. (b) Let m be odd. Then, every solution of (1.1) either oscillates or tends to zero as $n \to \infty$.

Proof. Let $\{x_n\}$ be a nonoscillatory solution of (1.1), with $x_{n-\rho} > 0$ for all $n \ge n_0$. Setting $z_n = x_n + p_n x_{n-k}^{\alpha}$, we get $z_n \ge x_n > 0$ and

(2.2)
$$\Delta^m z_n = -q_n x_{n-l}^\beta < 0 \quad , n \ge n_0.$$

It is clear from Lemma 1.2 that $\Delta^i z_n$ is eventually strictly monotonic for i = 1, 2, 3, ..., m-1 and it is also of constant sign. By Lemma 1.2 that for $m \geq 2$

$$(2.3) \qquad \Delta^{m-1} z_n > 0 \quad , n \ge n_0$$

Now, we claim that $\lim_{n\to\infty} x_n = 0$. Summing (2.2) from $n_1 \ge n_0 + l$ to ∞

$$\sum_{s=n_4}^{\infty} \Delta^m z_s = -\sum_{s=n_4}^{\infty} q_s x_{s-l}^{\beta}$$

or

$$0 < \Delta^{m-1} z_{n_4} - L = \sum_{s=n_4}^{\infty} q_s x_{s-l}^{\beta}$$

where $0 \leq L := \lim_{s \to \infty} \Delta^{m-1} z_s < \infty$. Since $\sum_{s=n_4}^{\infty} q_s x_{s-l}^{\beta} < \infty$, we have $\lim_{s \to \infty} q_s x_{s-l}^{\beta} = 0$, in the view of (C_1) , we see that $\lim_{s \to \infty} x_s = 0$ holds. Therefore, there is a $n \geq n_1$ such that

$$0 \le x_n^{\alpha} \le x_n \quad , n \ge n_1$$

or

(2.4)
$$0 \le x_n^{\alpha - 1} \le 1$$
 , $n \ge n_1$.

Now, we claim that $\Delta z_n \leq 0$ eventually. This is obvious from equation (1.1) in the case m = 1. For $m \geq 2$, we suppose on the contrary, that $\Delta z_n > 0$ for $n \geq n_1$. Then, considering (2.4),

(2.5)
$$\begin{array}{rcl} (1-p_n)z_n &\leq & z_n - p_n z_{n-k} \\ &= & x_n + p_n x_{n-k}^{\alpha} - p_n x_{n-k} - p_n p_{n-k} x_{n-2k}^{\alpha} \\ &= & x_n + p_n x_{n-k} \left(x_{n-k}^{\alpha-1} - 1 \right) - p_n p_{n-k} x_{n-2k}^{\alpha} \\ &\leq & x_n. \end{array}$$

for $n \ge n_2 \ge n_1 + 2k$. Since z_n is positive and increasing, it follows from Lemma 1.3 and (2.5)

(2.6)
$$x_n \ge (1-p_n)z_n \ge \frac{(1-p_n)}{(m-1)!} \left(\frac{n}{2^{m-1}}\right)^{(m-1)} \Delta^{m-1}z_n \quad ,n \ge 2^{m-1}n_2$$

Using (2.6), we find

$$q_n (x_{n-l})^{\beta} \ge q_n \left(\frac{(1-p_{n-l})}{(m-1)!} \left(\frac{n-l}{2^{m-1}} \right)^{(m-1)} \Delta^{m-1} z_{n-l} \right)^{\beta} \quad , n \ge n_3 \ge 2^{m-1} n_2 + l$$

and so from (2.2)

$$\Delta^{m} z_{n} \leq -q_{n} \left(\frac{1-p_{n-l}}{(m-1)!}\right)^{\beta} \left(\frac{n-l}{2^{m-1}}\right)^{(m-1)\beta} (\Delta^{m-1} z_{n-l})^{\beta} \quad , n \geq n_{3}$$

or

$$\Delta^{m} z_{n} + q_{n} \left(\frac{1 - p_{n-l}}{(m-1)!}\right)^{\beta} \left(\frac{n-l}{2^{m-1}}\right)^{(m-1)\beta} \left(\Delta^{m-1} z_{n-l}\right)^{\beta} \le 0.$$

Thus, we see that $\{\Delta^{m-1}z_n\}$ is an eventually positive (see (2.3)) solution of

(2.7)
$$\Delta w_n + q_n \left(\frac{1-p_{n-l}}{(m-1)!}\right)^{\beta} \left(\frac{n-l}{2^{m-1}}\right)^{(m-1)\beta} w_{n-l}^{\beta} \le 0$$

Therefore by Lemma 1.1, (2.1) has eventually positive solution. This is a contradiction with the oscillatory of equation (2.1) under the assumption of Theorem 2.1. Hence, $\Delta z_n \leq 0$ eventually. Since $\Delta z_n \leq 0$ eventually, in Lemma 1.2, we must have j = 0 and

(2.8)
$$(-1)^i \Delta^i z_n > 0 \quad , 0 \le i \le m - 1, n \ge n_1.$$

If m is even, (2.8) yields a contradiction to (2.3). This proves part (a) of the theorem. Now, let m be odd. Assume further that x_n is a non-oscillating solution which does not tend to zero as $n \to \infty$. As in the preceding case, (2.3) holds. Therefore, summing (2.2) from $n_1 \ge n_0 + l$ to ∞ , we get

$$0 < \Delta^{m-1} z_{n_4} = \sum_{k=n_4}^{\infty} q_n x_{n-l}^{\beta} < \infty$$

which implies $\lim_{n\to\infty} x_n = 0$ in the view of (C_1) . This contradiction completes the proof of part (b).

2.2. Theorem. Assume (C_1) and (C_3) hold. Then every solution of (1.1) either oscillates or tends to zero as $n \to \infty$.

Proof. Let $\{x_n\}$ be a non-oscillatory solution of (1.1) which is not limiting to zero, with $x_{n-\rho} > 0$, for all $n \ge n_0$. Setting $z_n = x_n + p_n x_{n-k}^{\alpha}$, we get $z_n \le x_n$, and also inequality (2.2) for $n \ge n_1$ where $n_1 \ge n_0$. Then, by Lemma 1.2, we have (2.3) for $n \ge n_1$. Summing (2.2), from $n_2 \ge n_1 + l$ to ∞ , we get

$$0 < \Delta^{m-1} z_{n_4} - L = \sum_{s=n_4}^{\infty} q_s x_{s-l}^{\beta}$$

where $0 \leq L := \lim_{s \to \infty} \Delta^{m-1} z_s < \infty$. Since $\sum_{s=n_4}^{\infty} q_s x_{s-l}^{\beta} < \infty$, we have $\lim_{s \to \infty} q_s x_{s-l}^{\beta} = 0$, in the view of (C_1) , we see that $\lim_{s \to \infty} x_s = 0$ holds. This contradiction completes the proof.

3. Applications on (1.1)

In this section, we give general examples on the equation (1.1).

3.1. Example. Let *m* be an even positive integer, *l* be an odd positive integer, $\alpha \in [1, \infty)$ be a quotient of odd positive integer and $\beta \in (0, 1)$ be a quotient of odd positive integer, furthermore 0 and <math>q > 0. Consider

(3.1) $\Delta^m [x_n + px_{n-k}^{\alpha}] + qx_{n-l}^{\beta} = 0.$

Since every condition of *Theorem 2.1(a)* is satisfied. So, we associate (3.1) with

(3.2)
$$\Delta w_n + q \left(\frac{1-p}{(m-1)!}\right)^{\beta} \left(\frac{n-l}{2^{m-1}}\right)^{\beta(m-1)} w_{n-l}^{\beta} = 0$$

Therefore,

$$\sum_{n=0}^{\infty}q\left(\frac{1-p}{(m-1)!}\right)^{\beta}\left(\frac{n-l}{2^{m-1}}\right)^{\beta(m-1)}=\infty,$$

every solution of (3.2) is oscillatory from *Theorem 1.2* in [6] and so is (3.1). Also,

$$x_n := \left(\frac{2^m}{q}\right)^{\frac{1}{\beta-1}} \cos\left(n\pi\right)$$

is such kind of a solution of (3.1).

3.2. Example. Let *m* be an odd positive integer and *l* be an even positive integer, $\alpha \in [1, \infty)$ be a quotient of odd positive integer and β be a quotient of odd positive integer, furthermore $p \in (-1, 1) - \{0\}$ and q, k > 0. Consider

(3.3) $\Delta^m [x_n + px_{n-k}^{\alpha}] + qx_{n-l}^{\beta} = 0.$

Since every condition of *Theorem 2.1(b)* is satisfied when 0 and the case where <math>-1 hold conditions of*Theorem 2.2*, every solution of (3.3) is oscillatory or tending to zero. Direct substitution of

$$x_n := \left(\frac{2^m}{q}\right)^{\frac{1}{\beta-1}} \sin\left(n\pi + \frac{\pi}{2}\right)^{\frac{1}{\beta-1}}$$

into (3.3) shows that x_n is an oscillatory solution of (3.3).

References

- [1] R. P. Agarwal, Difference Equations and Inequalities, Marcel Dekker, New York, 2000.
- [2] R. P. Agarwal, S.R. Grace and D. O'Regan, Oscillation Theory for Difference and Functional Differential Equations, Kluwer Academic Publishers, The Netherlands, 2000.
- [3] R. P. Agarwal, E. Thandapani, P.J.Y. Wong, Oscillations of higher-order neutral difference equations, Appl. Math. Lett. 10(1), 71-78 (1997).
- [4] R. P. Agarwal, S.R. Grace, Oscillation of higher-order nonlinear difference equations of neutral type, Appl. Math. Lett. 12, 77-83 (1999).
- [5] R. P. Agarwal, S. R. Grace and E. Akin-Bohner, On the oscillation of higher order neutral difference equations of mixed type, Dynam. Systems Appl., 11(4), 459–469, (2002).
- [6] S. R. Grace and S. Dontha, Oscillation of higher order neutral difference equations of mixed type, Dynam. Systems Appl., 12(3-4), 521–532, (2003).
- [7] X. Lin, Oscillation of solutions of neutral difference equations with a nonlinear term, J. Comp. Math. App., 52, 439-448, (2006).
- [8] S. H. Saker, Oscillation of higher order neutral delay differential equations with variable coefficients, Dynam. Systems Appl., 11(1), 107-125, (2002).
- [9] X. H. Tang and Y. J. Liu, Oscillation for nonlinear delay difference equations, Tamkang J. Math. 32, 275-280 (2001).

- [10] E. Thandapani, R. Arul and P. S. Raja, Oscillation of first order neutral delay difference equations, Applied Mathematics E-Notes, 3, 88-94 (2003).
- [11] M. K. Yildiz and Ö. Öcalan, Oscillation results for higher order nonlinear neutral delay difference equations, Appl. Math. Lett., 20, 243-247, (2007).
- [12] H. W. Wu, Q. R. Wang and , Y. T. Xu, Oscillation criteria for certain even order nonlinear functional differential equations, Dynam. Systems Appl., 13(1), 129–143, (2004).
- [13] G. Zhang and Y. Gao, Positive solution of higer nonlinear difference equation, Sys. Sci & Math. Scis., 19, 157-167, (1999).
- [14] G. Zhang, Oscillation for nonlinear difference equations, Applied Mathematics E-Notes, 2, 22-24 (2002).